# A RELATION OF GENERALIZED $q$ - $w$-EULER NUMBERS AND POLYNOMIALS 

M.J. PARK, Y.R. KIM* AND H.Y. LEE


#### Abstract

In this paper, we study the generalizations of Euler numbers and polynomials by using the $q$-extension with $p$-adic integral on $\mathbb{Z}_{p}$. We call these: the generalized $q$-w-Euler numbers $E_{n, q, w}^{(\alpha)}(a)$ and polynomials $E_{n, q, w}^{(\alpha)}(x ; a)$. We investigate some elementary properties and relations for $E_{n, q, w}^{(\alpha)}(a)$ and $E_{n, q, w}^{(\alpha)}(x ; a)$.


AMS Mathematics Subject Classification: 11T23, 20G40, 94B05.
Key words and phrases: The Euler numbers and polynomials, the generalized $q$-w-Euler number and polynomials, $p$-adic integral.

## 1. Introduction

Many mathematicians are interested in the Euler numbers and polynomials because they possess many interesting properties and arise in many areas of mathematics and physics. Due to these reasons, recently various analogues for Euler numbers and polynomials have been studied. C. S. Ryoo and H. Y. Lee studied the generalized $w$-Euler numbers and polynomials and they observed that the distribution of roots for $E_{n, q, w}(x ; a)$ is different from the Euler polynomials $E_{n}(x)=0$ (see [4]).

Throughout this paper, $\mathbb{Z}_{p}, \mathbb{Q}_{p}, \mathbb{C}_{p}, \mathbb{N}, \mathbb{Z}, \mathbb{Q}$ will be denote the ring of $p$ adic integers, the field of $p$-adic rational numbers, the completion of algebraic closure of $\mathbb{Q}_{p}$, the set of natural numbers, the ring of rational integers, the field of rational numbers, the set of complex numbers respectively and $\mathbb{Z}_{+}=\mathbb{N} \cup\{0\}$.

Let $\nu_{p}$ be the normalized exponential valuation of $\mathbb{C}_{p}$ with $|p|_{p}=p^{-\nu_{p}(p)}=$ $p^{-1}$. When one talks of $q$-extension, $q$ is considered in many ways such as an indeterminate, a complex number $q \in \mathbb{C}$, or $p$-adic number $q \in \mathbb{C}_{p}$. If $q \in \mathbb{C}$ one normally assume that $|q|<1$. If $q \in \mathbb{C}_{p}$, then we normally assume that

[^0]$|q-1|_{p}<p^{-\frac{1}{p-1}}$ so that $q^{x}=\exp (x \log q)$ for $|x|_{p} \leq 1$. Throughout this paper, we use the notation:
$$
[x]_{q}=\frac{1-q^{x}}{1-q}, \quad[x]_{-q}=\frac{1-(-q)^{x}}{1+q}(\text { see }[1-2,4-9]) .
$$

Hence $\lim _{q \rightarrow 1}[x]_{q}=x$ for any $x$ with $|x|_{p} \leq 1$ in the present $p$-adic case. For

$$
g \in U D\left(\mathbb{Z}_{p}\right)=\left\{g \mid g: \mathbb{Z}_{p} \rightarrow \mathbb{C}_{p} \text { is a uniformly differentiable function }\right\}
$$

the fermionic $p$-adic $q$-integral on $\mathbb{Z}_{p}$ is defined by T . Kim as below:

$$
\begin{equation*}
I_{-1}(g)=\int_{\mathbb{Z}_{p}} g(x) d \mu_{-1}(x)=\lim _{N \rightarrow \infty} \frac{1}{\left[p^{N}\right]_{-1}} \sum_{x=0}^{p^{N}-1} g(x)(-1)^{x} \tag{1}
\end{equation*}
$$

Let

$$
T_{p}=\cup_{m \geq 1} C_{p^{m}}=\lim _{m \rightarrow \infty} C_{p^{m}}
$$

where $C_{p^{m}}=\left\{w \mid w^{p^{m}}=1\right\}$ is the cyclic group of order $p^{m}$. For $w \in T_{p}$, we denote by $\phi_{w}: \mathbb{Z}_{p} \rightarrow \mathbb{C}_{p}$ the locally constant function given by $x \longmapsto w^{x}$.

If we take $g_{1}(x)=g(x+1)$ in (1), then we easily see that

$$
\begin{equation*}
I_{-1}\left(g_{1}\right)+I_{-1}(g)=2 g(0) . \tag{2}
\end{equation*}
$$

From (2), we obtain

$$
\begin{equation*}
I_{-1}\left(g_{n}\right)+(-1)^{n-1} I_{-q}(g)=2 \sum_{l=0}^{n-1}(-1)^{n-1-l} g(l) \tag{3}
\end{equation*}
$$

where $g_{n}(x)=g(x+n)($ see $[1-2,4-9])$.
As well-known definition, the Euler polynomials are defined by

$$
F(t)=\frac{2}{e^{t}+1}=e^{E t}=\sum_{n=0}^{\infty} E_{n} \frac{t^{n}}{n!}
$$

and

$$
F(t, x)=\frac{2}{e^{t}+1} e^{x t}=e^{E(x) t}=\sum_{n=0}^{\infty} E_{n}(x) \frac{t^{n}}{n!}
$$

with the usual convention of replacing $E^{n}(x)$ by $E_{n}(x)$. In the special case, $x=0, E_{n}(0)=E_{n}$ are called the $n$-th Euler numbers (see [1-2, 4-9]).

The purpose of this paper is to study the generalized $q$ - $w$-Euler numbers $E_{n, q, w}^{(\alpha)}(a)$ and polynomials $E_{n, q, w}^{(\alpha)}(x ; a)$ which are $q$-analogues of the generalized $w$-Euler numbers and polynomials, respectively.

## 2. The generalized $q$-w-Euler numbers and polynomials

In this section, we study the generalized $q$-w-Euler numbers $E_{n, q, w}^{(\alpha)}(a)$ and polynomials $E_{n, q, w}^{(\alpha)}(x ; a)$. To do this, we define the notions of the generalized $q$-w-Euler numbers $E_{n, q, w}^{(\alpha)}(a)$ and polynomials $E_{n, q, w}^{(\alpha)}(x ; a)$ using fermionic integral.

Definition 2.1. For $a \in \mathbb{R}^{+}, t \in \mathbb{R}$ and $w \in \mathbb{C}$, the generalized $q$-w-Euler numbers and polynomials is given by

$$
\begin{equation*}
\sum_{n=0}^{\infty} E_{n, q, w}^{(\alpha)}(x ; a) \frac{t^{n}}{n!}=\int_{\mathbb{Z}_{p}} w^{a y} e^{t[a y+x]_{q^{\alpha}}} d \mu_{-1}(y) \tag{4}
\end{equation*}
$$

and

$$
\begin{equation*}
\sum_{n=0}^{\infty} E_{n, q, w}^{(\alpha)}(a) \frac{t^{n}}{n!}=\int_{\mathbb{Z}_{p}} w^{a x} e^{t[a x]_{q^{\alpha}}} d \mu_{-1}(x) \tag{5}
\end{equation*}
$$

From Definition 2.1 and some calculations, we get

$$
\begin{aligned}
\sum_{n=0}^{\infty} E_{n, q, w}^{(\alpha)}(x ; a) \frac{t^{n}}{n!} & =\int_{\mathbb{Z}_{p}} w^{a y} e^{t[a y+x]_{q^{\alpha}}} d \mu_{-1}(y) \\
& =\lim _{N \rightarrow \infty} \frac{1}{\left[p^{N}\right]_{-1}} \sum_{y=0}^{p^{N}-1} w^{a y} e^{t[a y+x]_{q^{\alpha}}}(-1)^{y} \\
& =\lim _{N \rightarrow \infty} \sum_{y=0}^{p^{N}-1}\left(-w^{a}\right)^{y} \sum_{n=0}^{\infty}[a y+x]_{q^{\alpha}}^{n} \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty}\left(\frac{1}{1-q^{\alpha}}\right)^{n} \lim _{N \rightarrow \infty} \sum_{y=0}^{p^{N}-1}\left(-w^{a}\right)^{y}\left(1-q^{\alpha(a y+x)}\right)^{n} \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty}\left(\frac{1}{1-q^{\alpha}}\right)^{n} \lim _{N \rightarrow \infty} \sum_{y=0}^{p^{N}-1}\left(-w^{a}\right)^{y} \sum_{l=0}^{n}\binom{n}{l}(-1)^{l} q^{\alpha a y l} q^{\alpha x l} \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty}\left(\frac{1}{1-q^{\alpha}}\right)^{n} \sum_{l=0}^{n}\binom{n}{l}(-1)^{l} q^{\alpha x l} \lim _{N \rightarrow \infty} \sum_{y=0}^{p^{N}-1}\left(-w^{a}\right)^{y} q^{\alpha a y l} \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty}\left(\frac{1}{1-q^{\alpha}}\right)^{n} \sum_{l=0}^{n}\binom{n}{l}(-1)^{l} q^{\alpha x l} \frac{2}{1+w^{a} q^{\alpha a l}} \frac{t^{n}}{n!} .
\end{aligned}
$$

Then we get

$$
\begin{equation*}
E_{n, q, w}^{(\alpha)}(x ; a)=2\left(\frac{1}{1-q^{\alpha}}\right)^{n} \sum_{l=0}^{n}\binom{n}{l}(-1)^{l} q^{\alpha x l} \frac{1}{1+w^{a} q^{\alpha a l}} \tag{6}
\end{equation*}
$$

Also from some calculations, we get

$$
\begin{aligned}
E_{n, q, w}^{(\alpha)}(x ; a) & =2\left(\frac{1}{1-q^{\alpha}}\right)^{n} \sum_{l=0}^{n}\binom{n}{l}(-1)^{l} q^{\alpha x l} \frac{1}{1+w^{a} q^{\alpha a l}} \\
& =2\left(\frac{1}{1-q^{\alpha}}\right)^{n} \sum_{l=0}^{n}\binom{n}{l}(-1)^{l} q^{\alpha x l} \sum_{k=0}^{\infty}\left(-w^{a} q^{\alpha a l}\right)^{k} \\
& =2\left(\frac{1}{1-q^{\alpha}}\right)^{n} \sum_{k=0}^{\infty}(-1)^{k} w^{a k} \sum_{l=0}^{n}\binom{n}{l}(-1)^{l} q^{\alpha x l} q^{\alpha a l k} \\
& =2\left(\frac{1}{1-q^{\alpha}}\right)^{n} \sum_{k=0}^{\infty}(-1)^{k} w^{a k}\left(1-q^{\alpha x+\alpha a k}\right)^{n} \\
& =2 \sum_{k=0}^{\infty}(-1)^{k} w^{a k}\left(\frac{1-q^{\alpha(x+a k)}}{1-q^{\alpha}}\right)^{n} \\
& =2 \sum_{k=0}^{\infty}(-1)^{k} w^{a k}[x+a k]_{q^{\alpha}}^{n} \\
& =\sum_{k=0}^{\infty} 2(-1)^{k} w^{a k}[x+a k]_{q^{\alpha}}^{n} .
\end{aligned}
$$

Therefore we get

$$
E_{n, q, w}^{(\alpha)}(x ; a)=2 \sum_{k=0}^{\infty}(-1)^{k} w^{a k}[x+a k]_{q^{\alpha}}^{n} .
$$

In the above result, if $x=0$, then we get

$$
E_{n, q, w}^{(\alpha)}(a)=2 \sum_{k=0}^{\infty}(-1)^{k} w^{a k}[a k]_{q^{\alpha}}^{n} .
$$

Hence we get the theorem as below:
Theorem 2.2. For $a \in \mathbb{R}^{+}$and $w \in \mathbb{C}$, we get

$$
\begin{equation*}
E_{n, q, w}^{(\alpha)}(x ; a)=2 \sum_{k=0}^{\infty}(-1)^{k} w^{a k}[x+a k]_{q^{\alpha}}^{n} \tag{7}
\end{equation*}
$$

and

$$
\begin{equation*}
E_{n, q, w}^{(\alpha)}(a)=2 \sum_{k=0}^{\infty}(-1)^{k} w^{a k}[a k]_{q^{\alpha}}^{n} \tag{8}
\end{equation*}
$$

From (6) and some calculations, we get

$$
E_{n, q^{-1}, w^{-1}}^{(\alpha)}(a-x ; a)=2\left(\frac{1}{1-q^{-\alpha}}\right)^{n} \sum_{l=0}^{n}\binom{n}{l}(-1)^{l} q^{-\alpha(a-x) l} \frac{1}{1+w^{-a} q^{-\alpha a l}}
$$

$$
\begin{aligned}
& =2(-1)^{n} q^{\alpha n}\left(\frac{1}{1-q^{\alpha}}\right)^{n} \sum_{l=0}^{n}\binom{n}{l}(-1)^{l} q^{\alpha x l} q^{-\alpha a l} \frac{w^{a} q^{\alpha a l}}{1+w^{a} q^{\alpha} a l} \\
& =2(-1)^{n} q^{\alpha n} w^{a}\left(\frac{1}{1-q^{\alpha}}\right)^{n} \sum_{l=0}^{n}\binom{n}{l}(-1)^{l} q^{\alpha x l} \frac{1}{1+w^{a} q^{\alpha} a l} \\
& =(-1)^{n} q^{\alpha n} w^{a} E_{n, q, w}^{(\alpha)}(x ; a) .
\end{aligned}
$$

Hence, we get the following theorem.
Theorem 2.3. For $a \in \mathbb{R}^{+}, w \in \mathbb{C}$ and $n \in \mathbb{N}$, we have

$$
E_{n, w^{-1}, q^{-1}}^{(\alpha)}(a-x ; a)=(-1)^{n} q^{\alpha n} w^{a} E_{n, q, w}^{(\alpha)}(x ; a)
$$

From Definition 2.1 and some calculations, we get

$$
\begin{aligned}
E_{n, w, q}^{(\alpha)}(x ; a) & =\int_{\mathbb{Z}_{p}} w^{a y}[a y+x]_{q^{\alpha}}^{n} d \mu_{-1}(y) \\
& =\int_{\mathbb{Z}_{p}} w^{a y}\left([x]_{q^{\alpha}}+q^{\alpha x}[a y]_{q^{\alpha}}\right)^{n} d \mu_{-1}(y) \\
& =\int_{\mathbb{Z}_{p}} w^{a y} \sum_{l=0}^{n}\binom{n}{l}[x]_{q^{\alpha}}^{n-l} q^{\alpha x l}[a y]_{q^{\alpha}}^{l} d \mu_{-1}(y) \\
& =\sum_{l=0}^{n}\binom{n}{l}[x]_{q^{\alpha}}^{n-l} q^{\alpha x l} \int_{\mathbb{Z}_{p}} w^{a y}[a y]_{q^{\alpha}}^{l} d \mu_{-1}(y) \\
& =\sum_{l=0}^{n}\binom{n}{l}[x]_{q^{\alpha}}^{n-l} q^{\alpha x l} E_{l, q, w}^{(\alpha)}(a) \\
& =\left([x]_{q^{\alpha}}+q^{\alpha x} E_{q, w}^{(\alpha)}(a)\right)^{n} .
\end{aligned}
$$

Hence we get an identity as below:

$$
\begin{equation*}
E_{n, w, q}^{(\alpha)}(x ; a)=\left([x]_{q^{\alpha}}+q^{\alpha x} E_{q, w}^{(\alpha)}(a)\right)^{n} . \tag{9}
\end{equation*}
$$

Let $m$ be a positive integer. From the equation (6), we get

$$
\begin{aligned}
& {[m]_{q^{\alpha}}^{n} \sum_{i=0}^{m-1}(-1)^{i} w^{a i} E_{n, q^{\alpha m}, w^{m}}^{(\alpha)}\left(\frac{a i+x}{m} ; a\right)} \\
& =[m]_{q^{\alpha}}^{n} \sum_{i=0}^{m-1}(-1)^{i} w^{a i} \times 2\left(\frac{1}{1-q^{\alpha m}}\right)^{n} \sum_{l=0}^{n}\binom{n}{l}(-1)^{l} q^{\alpha m \frac{a i+x}{m}} l \frac{1}{1+w^{m \alpha} q^{\alpha m a l}} \\
& =\left(\frac{1-q^{\alpha m}}{1-q^{\alpha}}\right)^{n} \times 2 \times\left(\frac{1}{1-q^{\alpha m}}\right)^{n} \\
& \quad \times \sum_{l=0}^{n}\binom{n}{l}(-1)^{l} q^{\alpha x l} \frac{1}{1+w^{m a} q^{\alpha m a l}} \sum_{i=0}^{m-1}\left(-w^{a}\right)^{i} q^{\alpha a i l}
\end{aligned}
$$

$$
\begin{aligned}
& =2\left(\frac{1}{1-q^{\alpha}}\right)^{n} \sum_{l=0}^{n}\binom{n}{l}(-1)^{l} q^{\alpha x l} \frac{1}{1+w^{m a} q^{\alpha m a l}} \frac{1+w^{a m} q^{\alpha a m l}}{1+w^{a} q^{\alpha a l}} \\
& =2\left(\frac{1}{1-q^{\alpha}}\right)^{n} \sum_{l=0}^{n}\binom{n}{l}(-1)^{l} q^{\alpha x l} \frac{1}{1+w^{a} q^{\alpha a l}} \\
& =E_{n, q, w}^{(\alpha)}(x ; a)
\end{aligned}
$$

Hence we get the distribution relation as below:
Theorem 2.4. For $a \in \mathbb{R}^{+}, w \in \mathbb{C}$ and $n, m \in \mathbb{N}$, we have

$$
[m]_{q^{\alpha}}^{n} \sum_{i=0}^{m-1}(-1)^{i} w^{a i} E_{n, q^{\alpha m}, w^{m}}^{(\alpha)}\left(\frac{a i+x}{m} ; a\right)=E_{n, q, w}^{(\alpha)}(x ; a)
$$

Let $g(x)=w^{a x} e^{t[a x]_{q} \alpha}$. From properties of the fermionic $p$-adic integral (2), we get

$$
\begin{aligned}
& I_{-1}\left(g_{1}\right)+I_{-1}(g)=\int_{\mathbb{Z}_{p}} w^{a(x+1)} e^{t[a(x+1)]_{q^{\alpha}}} d \mu_{-1}(x)+\int_{\mathbb{Z}_{p}} w^{a x} e^{t[a x]_{q^{\alpha}}} d \mu_{-1}(x) \\
& =w^{a} \sum_{n=0}^{\infty} \int_{\mathbb{Z}_{p}} w^{a x}[a x+a]_{q^{\alpha}}^{n} d \mu_{-1}(x) \frac{t^{n}}{n!}+\sum_{n=0}^{\infty} \int_{\mathbb{Z}_{p}} w^{a x}[a x]_{q^{\alpha}}^{n} d \mu_{-1}(x) \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty}\left(w^{a} E_{n, q, w}^{(\alpha)}(a ; a)+E_{n, q, w}^{(\alpha)}(a)\right) \frac{t^{n}}{n!} \\
& =2
\end{aligned}
$$

By comparing the coefficients of $\frac{t^{n}}{n!}$ in both sides, we get an identity as below:
Theorem 2.5. For $a \in \mathbb{R}^{+}, w \in \mathbb{C}$ and $n \in \mathbb{Z}_{+}$, we have

$$
w^{a} E_{n, q, w}^{(\alpha)}(a ; a)+E_{n, q, w}^{(\alpha)}(a)= \begin{cases}2, & \text { if } n=0 \\ 0, & \text { if } n>0 .\end{cases}
$$

By Theorem 2.4 and the equation (9), we have the following corollary.
Corollary 2.6. For $n \in \mathbb{Z}_{+}$, we have

$$
w^{a}\left([a]_{q^{\alpha}}+q^{\alpha a} E_{n, q, w}^{(\alpha)}(a)\right)^{n}+E_{n, q, w}^{(\alpha)}(a)= \begin{cases}2, & \text { if } n=0 \\ 0, & \text { if } n>0,\end{cases}
$$

with the usual convention of replacing $\left(E_{w}(a)\right)^{n}$ by $E_{n, w}(a)$.
Let $g(x)=w^{a x} e^{[a x]_{q^{\alpha}} t}$. From $g(x)$ and the left side of the equation (3), we get

$$
\begin{aligned}
& I_{-1}\left(g_{n}\right)+(-1)^{n-1} I_{-1}(g) \\
& =\int_{\mathbb{Z}_{p}} w^{a(x+n)} e^{[a(x+n)]_{q^{\alpha}}^{t}} d \mu_{-1}(x)+(-1)^{n-1} \int_{\mathbb{Z}_{p}} w^{a x} e^{[a x]_{q^{\alpha}}^{t}} d \mu_{-1}(x)
\end{aligned}
$$

$$
\begin{align*}
& =w^{a n} \int_{\mathbb{Z}_{p}} w^{a n} e^{[a x+a n]_{q^{\alpha}}^{t}} d \mu_{-1}(x)+(-1)^{n-1} \int_{\mathbb{Z}_{p}} w^{a x} e^{[a x]_{q^{\alpha}}^{t}} d \mu_{-1}(x) \\
& =w^{a n} \sum_{m=0}^{\infty}\left(\int_{\mathbb{Z}_{p}} w^{a x}[a x+a n]_{q^{\alpha}}^{m} d \mu_{-1}(x)\right) \frac{t^{m}}{m!} \\
& \quad+(-1)^{n-1} \sum_{m=0}^{\infty}\left(\int_{\mathbb{Z}_{p}} w^{a x}[a x]_{q^{\alpha}}^{m} d \mu_{-1}(x)\right) \frac{t^{m}}{m!} \\
& =\sum_{m=0}^{\infty}\left(w^{a n} E_{n, q, w}^{(\alpha)}(a n ; a)+(-1)^{n-1} E_{n, q, w}^{(\alpha)}(a)\right) \frac{t^{m}}{m!} \tag{10}
\end{align*}
$$

Also, from $g(x)$ and the right hand side of equation of (3), we get the following :

$$
\begin{equation*}
2 \sum_{l=0}^{n-1}(-1)^{n-1-l} w^{a l} e^{[a l]_{q^{\alpha}}^{t}}=\sum_{m=0}^{\infty}\left(2 \sum_{l=0}^{n-1}(-1)^{n-1-l} w^{a l}[a l]_{q^{\alpha}}^{m}\right) \frac{t^{m}}{m!} \tag{11}
\end{equation*}
$$

Hence by (10), (11) and comparison of the coefficients of $\frac{t^{m}}{m!}$ in both hand sides, we have the following theorem

Theorem 2.7. For a positive integer n, we have

$$
w^{a n} E_{m, q, w}^{(\alpha)}(a n ; a)+(-1)^{n-1} E_{m, q, w}^{(\alpha)}(a)=2 \sum_{l=0}^{n-1}(-1)^{n-1-l} w^{a l}[a l]_{q^{\alpha}}^{m}
$$

## 3. The analogue of the generalized $q$ - $w$-Euler zeta function

The Euler zeta function is defined by $\zeta_{E}(s)=\sum_{n=0}^{\infty} \frac{(-1)^{n-1}}{n^{s}}$ (see [3]). By using the generalized $q$ - $w$-Euler numbers and polynomials, the generalized Hurwitz $q$ - $w$-Euler zeta functions and the generalized $q$ - $w$-Euler zeta functions are defined. These functions interpolate the generalized $q$ - $w$-Euler numbers and $q$ -$w$-Euler polynomials, respectively. In this section, let $\omega$ be the $p^{N}$-th root of unity.

Let $F_{w, q, a}^{(\alpha)}(t ; x)=\sum_{n=0}^{\infty} E_{n, q, w}^{(\alpha)}(x ; a) \frac{t^{n}}{n!}$. Then by the $k$-th differentiation, we get

$$
\begin{equation*}
\left.\frac{d^{k}}{d t^{k}} F_{w, q, a}^{(\alpha)}(t ; x)\right|_{t=0}=E_{k, q, w}^{(\alpha)}(x ; a) \tag{12}
\end{equation*}
$$

By using equation (12), we are now ready to define the concept of generalized $w$-Euler zeta functions.

Definition 3.1. For $s \in \mathbb{C}$, we define

$$
\zeta_{q, w, a}^{(\alpha)}(s ; x)=2 \sum_{n=0}^{\infty} \frac{(-1)^{n} w^{a n}}{[x+a n]_{q^{\alpha}}^{s}} .
$$

Note that $\zeta_{q, w, a}^{(\alpha)}(s ; x)$ is a meromorphic function on $\mathbb{C}$. Note that if $w \rightarrow$ $1, q \rightarrow 1$ and $a=1$, then $\zeta_{q, w, a}^{(\alpha)}(s ; x)=\zeta(x ; s)$, which is the Hurwitz Euler zeta function. The relation between $\zeta_{q, w, a}^{(\alpha)}(s ; x)$ and $E_{n, q, w}^{(\alpha)}(x ; a)$ is given in the following theorem.

Theorem 3.2. For $k \in \mathbb{N}$, we have

$$
\zeta_{q, w, a}^{(\alpha)}(-s ; x)=E_{s, q, w}^{(\alpha)}(x ; a)
$$

Observe that the function $\zeta_{q, w, a}^{(\alpha)}(s ; x)$ interpolates $E_{n, q, w}^{(\alpha)}(x ; a)$ at non-negative integers. By using (12), we note that

$$
\begin{equation*}
\left.\frac{d^{k}}{d t^{k}} F_{w, q, a}^{(\alpha)}(t ; 0)\right|_{t=0}=E_{k, q, w}^{(\alpha)}(0 ; a)=E_{k, q, w}^{(\alpha)}(a) \tag{13}
\end{equation*}
$$

By using the above equation, we are now ready to define the notion of twisted Hurwitz $q$ - $w$-Euler zeta functions.
Definition 3.3. For $s \in \mathbb{C}$, we define

$$
\zeta_{q, w, a}^{(\alpha)}(s)=2 \sum_{n=1}^{\infty} \frac{(-1)^{n} w^{a n}}{[a n]_{q^{\alpha}}^{s}}
$$

Note that $\zeta_{q, w, a}^{(\alpha)}(s)$ is a meromorphic function on $\mathbb{C}$. Obserse that if $w \rightarrow 1$ and $q \rightarrow 1$, then $\zeta_{q, w, a}^{(\alpha)}(s)=\zeta(s)$ is the Hurwitz Euler zeta function. The relation between $\zeta_{q, w, a}^{(\alpha)}(s)$ and $E_{s, q, w}^{(\alpha)}$ is given in the following theorem.
Theorem 3.4. For $k \in \mathbb{N}$, we have

$$
\zeta_{q, w, a}^{(\alpha)}(-s)=E_{s, q, w}^{(\alpha)}(a)
$$

Acknowledgment. The authors would like to thank the anonymous referees for their valuable suggestions and comments.

## References

1. N.S. Jung and C.S. Ryoo, A research on a new approach to Euler polynomials and Bernstein polynomials with variable $[x]_{q}$, J. Appl. Math. \& Informatics 35 (2017), 205-215.
2. T. Kim, $q$-Euler numbers and polynomials associated with p-adic $q$-integrals, J. Nonlinear Math. Phys. 14 (2007), 15-27.
3. H.Y. Lee and C.S. Ryoo, A note on recurrence formula for values of the Euler zeta functions $\zeta_{E}(2 n)$ at positive integers, Bull. Korean Math. Soc. 51 (2014), 1425-1432
4. H.Y. Lee, N.S. Jung and C.S. Ryoo, Generalized $w$-Euler numbers and polynomials, ISRN Applied Mathematics 2012 (2012), 475463, 14 pages.
5. C.S. Ryoo, A numerical investigation on the structure of the roots of $q$-Genocchi polynomials, J. Appl. Math. Comput. 26 (2008), 325-332.
6. C.S. Ryoo, A numerical investigation on the zeros of the tangent polynomials, J. Appl. Math. \& Informatics 32 (2014), 315-322.
7. C.S. Ryoo, A note on the zeros of the $q$-Bernoulli polynomials, J. Appl. Math. \& Informatics 28 (2010), 805-811.
8. C.S. Ryoo, Reflection symmetries of the $q$-Genocchi polynomials, J. Appl. Math. \& Informatics 28 (2010), 1277-1284.
9. C.S. Ryoo, H.Y. Lee and N.S. Jung, Some identities on the $(h, q)$-Euler numbers with weight and $q$-Bernstein polynomials, Applied Mathematical Sciences 5 (2011), 3429-3437.

Min Ji Park received Master of Education from Chungnam National University. Her research interests include agebraic analysis and p-adic functional analysis.
Department of Mathematics, Hannam University, Daejeon 34430, Korea.
e-mail: cirrocumulus@naver.com
Young Rok Kim received M.Sc. from Kongju National University. His research interests include number theory, p-adic functional analysis and scientific computing.
Department of Mathematics, Hannam University, Daejeon 34430, Korea.
e-mail: cantor73@naver.com
Hui Young Lee received M.Sc. and Ph.D. from Hannam University. His research interests include p-adic functional analysis and scientific computing.
Department of Mathematics, Hannam University, Daejeon 34430, Korea.
e-mail: normaliz@hnu.kr


[^0]:    Received March 26, 2017. Revised May 8, 2017. Accepted May 12, 2017. * Corresponding author.
    © 2017 Korean SIGCAM and KSCAM.

